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Complete the table of ratios for similar polygons s a ..
'Ratio of correspondmg ‘side lengths Ratlo of perimeters | Ratio of areas | = . 7
1. 5:8 5.2 25°.LHY - E
2. ' 4:7 \'. 44 =1
3. 12: L 3L 169:36 | 7
a. 66:18=7 |1.% WA 1219
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Corresponding lengths in similar. figures are given. Find the ratios (shaded

to unshaded) of the perlmeters and areas.
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Find the unknown area.
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lengths of corresponding sides.
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The ratio of the areas of two 5|mllao|{ figures is iven erte the rallo ?f the ':(UI\Q\OJ ‘J ) =)y .m&]
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10. Ratio of areas b25 196

9. Ratio of areas = 16:81 '11. Ratio of areas = 144:49
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Use.the given area to find XY. _

i  12. ABCD ~ WXYZ ' . . 13. EFGHJK ~ UVYWXYZ
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HAT 14. Regnla.rm BCDEFGH has a side length of 10 millimeters and an- { -

R area of 160 squaréBmJ]luneters Regular octagon JKLMNOPQ has a perimeter X_—-_l_g_'_j

vm wfp  of 200 millimeters. Find its area, Rado $1d¢S Pmo Areds
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ik 45. Kites RSTU and -YWXY are similar. The arca of RSTU is 162 square feet. The lx)(-'—;' oM |
:W 'm & diagonals of VXY are 32 feet longand 18 feet long. Find the area of VWXY. :

Then use the ratio of the areas to find the lengths of the diagonals of RSTU.
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—"16 d ADEF are sumlar The helght of AABC is 42 inches. The base of 5

G'WW\. lf\.&} ADEF is 7 inches and the area is 42 square inches. Find the ratio of the area - &Aﬁ‘.%
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M Sl*ri\'\‘ ectangles ABCBland EFGH are snmlaz The width of ABCD is 18 centimeters and g
the perimeter is 120 centimeters. The length of EFGH is 91 centimeters. Find the 2

(70[0‘\ m@o ratio of the side lengths of ABCD to the side lengths of EFGH. %
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